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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2016 C L«X, 2017 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Y“U] Yy ( 1st Paper : Introducing Sociology ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) a]ÁLTˆ„√º¯Ã[˝ aep˚Á ◊VX* a]ÁLTˆ√º¯„Eı ◊Eı ◊[˝p˚Á„XÃ[˝ 

]^ÔÁVÁ ÂVCÃ^Á ^ÁÃ^ ? 

 (F) [˝Ó◊N˛±ºˆ Eı› ? Eı›\ˆÁ„[˝ ]ÁX«„bÃ[˝ ]„W˝Ó [˝Ó◊N˛±ºˆ G‰QÕˆ 

C‰Pˆ ? 

 (G) \…ˆ◊]EıÁm¨K˜ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? [˝Ó◊N˛ Eı›\ˆÁ„[˝ 

a]Á„L \…ˆ◊]EıÁ [˝Ó[˝ÿöˆÁ [˝LÁÃ^ Ã[˝ÁF„Tˆ YÁ„Ã[˝ ? 

 (H) aÁ]Á◊LEı ÿôˆÃ[˝◊[˝XÓÁ„aÃ[˝ AEı ◊[˝„`b =VÁc˜Ã[˝S ◊c˜„a„[˝ 

LÁTˆYÁTˆ [˝Ó[˝ÿöˆÁÃ[˝ È[˝◊`rÙÓ ◊XSÔÃ^ EıÃ[˝”X* LÁTˆYÁ„TˆÃ[˝ 

EıÁPˆÁ„]ÁÃ^ Eı› Y◊Ã[˝[˝Tˆ¤X A„a‰ªK˜ ?  
2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) a]ÁLTˆ„√º¯Ã[˝ a„Ü aÁ]Á◊LEı X Tˆ√º¯ C a]ÁL 
]„XÁ◊[˝VÓÁÃ[˝ a+EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) ◊_Ü-È[˝b„]ÓÃ[˝ a„Ü aÁ]Á◊LEı ÿôˆÃ[˝◊[˝XÓÁ„aÃ[˝ a+EÔı 
◊[˝‰`¿bS EıÃ[˝”X* 

(G) a\ˆÓTˆÁ C aeï ı◊TˆÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X* 
(H) aÁ]Á◊LEı›EıÃ[˝S Eı› ? AÃ[˝ ]ÁW˝Ó] Ã[˝÷„Y Y◊Ã[˝[˝ÁÃ[˝ C 

aÜ›-ÂGÁúˆ›Ã[˝ \…ˆ◊]EıÁ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
(I¯) aÁ]Á◊LEı ◊XÃ^‹óˆ„SÃ[˝ Y“EıÁÃ[˝„\ˆV %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(ªªJÙ˜) aÁ]Á◊LEı Y“◊y‘Ã^Á ◊c˜„a„[˝ ac˜„^Á◊GTˆÁ C ◊[˝„Ã[˝ÁW˝-AÃ[˝ 

Y“E ı◊Tˆ ◊[˝‰`¿bS EıÃ[˝”X* 
3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) a]ÁLTˆ„√º¯Ã[˝ ◊[˝EıÁ„` ◊`î◊[˝Y¿„[˝Ã[˝ \…ˆ◊]EıÁ Eı› ◊ªK˜_ ? 
(F) ◊[˝`üÁÃ^X Eı› ? 
(G) ◊X„V¤`Eı ÂGÁúˆ›Ã[˝ W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 
(H) \…ˆ◊]EıÁ-•≥• EıFX a ◊rÙ c˜Ã^ ? 
(I¯) Ê`“S› aeG–Á] Eı› ? 
(ªJÙ) aÁ]Á◊LEı %X«y‘]S Eı› ? 
(ªK˜) ◊`£Ã[˝ ◊[˝EıÁ` a+„EÔı ◊]Qˆ-AÃ[˝ Tˆ√º¯ Eı› [˝„_ ? 
(L) \ˆÁ[˝ÁV`Ô [˝ÓÁFÓÁ EıÃ[˝”X* 
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1. Answer any two questions : 20 × 2 = 40 

(a) Define Sociology. Can Sociology be given 

the status of science ? 

(b) What is Personality ? How does personality 

develop in man ? 

(c) What is meant by Role-set ? How can the 

individual maintain Role-system in    

society ?   

(d) Elucidate the features of caste system as a 

special example of social stratification. 

What changes have occurred in the 

structure of the caste system ? 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the relation between Sociology and 

Social Anthropology and Sociology and 

Social Psychology. 

(b) Analyse the relation between gender 

inequality and social stratification. 

(c) Examine the differences between culture 

and civilisation. 

(d) What is socialization ? Examine roles of 

Family and Peer group as agencies of 

socialization. 

(e) Discuss the types of social control. 

(f) Analyse the nature of cooperation and 

conflict as forms of social interaction. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What was the role of Industrial Revolution 

in the development of Sociology ? 

(b) What is Globalization ?  

(c) Explain the concept of Reference Group. 

(d) When does Role conflict arise ? 

(e) What is class struggle ? 

(f) What is social conformity ? 

(g) What does Mead's theory say regarding 

child development ? 

(h) Explain Ideology. 

    


